
1. 2/3 + 4/9 =                 2.  ½ + 1/8 =

3. 1/6 + 4/18 = 4. 3/4 + 1/24 =





Introduction

2/9 + 3/9 + 1/9

I would add the numerators together because the 
denominators are the same meaning we do not 

need to find the common denominator.
6/9

2/9 + 3/9 + 1/3

I would write out my 3- and 9-times tables and find 
the lowest common denominator which is 9. I 

would then convert 1/3 into 9ths. After this I would 
then add all the numerators together.
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Introduction

Let's have a look at another one together:

1/5 + 2/10 + 3/10

On your whiteboard have ago at:

1) 2/8 + ¼ + 3/8 =

2) 1/6 + 2/6 + 1/3 =



Step 1
Work out what number all of the denominators will 
go into (use your x table knowledge to help you to 

work this out)
3, 6 and 12 will all go into . 

Step 2
Use your knowledge of equivalent fractions to 

convert the fractions so that they all have the same 
denominator
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Step 3
Add the numerators
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1) 1/3 + 4/9

2) 2/5 + 3/10

3) ¼ + 3/8

4) 2/3 + 2/6

5) 2/9 +3/18

6) 1/5 + 4/10



1) 1/3 + 4/9 = 7/9

2) 2/5 + 3/10 = 7/10

3) ¼ + 3/8 = 5/8

4) 2/3 + 2/6 = 6/6 or 1

5) 2/9 + 3/18 = 7/18

6) 1/5 + 4/10 = 6/10



1) 1/6 + 2/6 + 1/3

2) 2/10 + 1/5 + 3/10

3) 3/12 + 1/12 + 2/3

4)

5)

6)














